Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
System: ORS18 P = W =) (L w -L* )

t*|ab* =¥ jab* = C¥lap+ [Fm = 0,5
CIELAB-Bunttonwinkel: T S /C s [Fm 1
Nab = [37. 96, 150, 236, 305, 353] & lab® =C*apal Crapam
lab* M = Maximalfarbe

a¥jgpr = Cjaps COS
b*jap+ = Cjap Sin hap

relative Buntheit a* g+




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
System: TLS00 =W =L/ G -L* )

Piabe = o = Chigb [* = 0.5
CIELAB-Bunttonwinkel: L S
o= [40, 102, 136, 196, 306, 328]y, Ol =C'aba/ C'abam
lab* M = Maximalfarbe
Y
e = Ciae COS i
b*jap+ = Cjap Sin hap

relative Buntheit a* g+




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
System: FRS06 =W =L/ G -L* )

CIELAB-Bunttonwinkel: ‘Jab' C‘fb /Cclfb‘ [Py -05]
han,q = [36, 91, 143, 231, 312, 337] C*lab* = C*ap.al C*abam
lab* M = Maximalfarbe
"
a¥jgpr = Cjaps COS
b*aps = C*jap+ SN hap

relative Buntheit a* g+




Beziehungadaptiertes (alCIELAB ( C*5p  L*) und relativesCIELAB ( c*, t*)
System: TSL18 P = W =) (L w -L* )

Piabe = o = Chigb [* = 0.5
CIELAB-Bunttonwinkel: L S
M= 34, 103, 136, 196, 304, 328],, Ol =C'aba/ C'abam
lab* M = Maximalfarbe
Y
e = Ciae COS i
b*iabs = C¥jap+ SiN hap

relative Buntheit a* g+




Beziehungadaptiertes (alCIELAB ( C*5p  L*) und relativesCIELAB ( c*, t*)
System: NLS00 =W =L/ G -L* )

t*|ab* =¥ jab* = C¥lap+ [Fm = 0,5
CIELAB-Bunttonwinkel: T S /C s [Fm 1
han,q = [29, 89, 150, 209, 270, 330] |, C'iap+ =C*abal C*abam
lab* M = Maximalfarbe

a¥jgpr = Cjaps COS
b*jap+ = Cjap Sin hap

relative Buntheit a* g+




Beziehungadaptiertes (alCIELAB ( C*5p o L*) und relativesCIELAB ( c*, t*)
System: NLS18 P = W =) (L w -L* )

Hlap* = Flab* = C¥lap* [Fm — 0,5
CIELAB-Bunttonwinkel: T S /C s [Fm 1
hap,q = [30, 89, 149, 210, 270, 329] . C'iap+ =C*abal C*abam
lab* M = Maximalfarbe

a¥jgpr = Cjaps COS
b*jap+ = Cjap Sin hap

relative Buntheit a* g+




Beziehungadaptiertes (alCIELAB ( C*5p , L*) und relativesCIELAB ( c*, t*)
System: NRS11 P = W =) (L w -L* )

Hlap* = Flab* = C¥lap* [Fm — 0,5
CIELAB-Bunttonwinkel: T S /C s [Fm 1
hap,q = [23, 90, 167, 202, 272, 325] . C'iap+ =C*abal C*abam
lab* M = Maximalfarbe

a¥jgpr = Cjaps COS
b*jap+ = Cjap Sin hap

relative Buntheit a* g+




Beziehungadaptiertes (alCIELAB ( C*5p  L*) und relativesCIELAB ( c*, t*)
System: TLS70 P = W =) (L w -L* )

t*|ab* =¥ jab* = C¥lap+ [Fm = 0,5
CIELAB-Bunttonwinkel: T S ) s [Fm 1
Nab 4= [21, 107, 142, 197, 203, 326, lab® =C*apal Crapam
lab* M = Maximalfarbe
Y
japr = Cjapr €OS hyp
b*aps = C*jap+ SN hap

relative Buntheit a* g+




